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Test 2

No books or cell phones are allowed. You may use a nonprogrammablé_ scientific calculator with-
‘out graphing capabilities. Show all of your work and use correct notation.

- Question 1. (4 marks) Find the average of f(x) = 6x2 — 4x+ 1 on the interval 11,5].
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Question 2. (10 marks) Let f(x) = x* — 2x and g(x) =x+4.

(a) Find the points intersection for these two functions.
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(b) Sketch the graphs of f(x) and g(x). Shade the region Rpefween the two curves. Make sure to
label all relevant points. ’
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Question 3. (10 marks) The demand function for a certain brarid of burnable DVDs is given by
p=-0.01x>—0.2x+8

- where p is the unit price in dollars and x is the quantity demanded each week measured in units of
a thousand. The wholesale market price is set at $5 per DVD. -

(a) Determine the consumer’s surplus.
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~(b) Determihe the producer’s surplus if the supply function for the DVDs is I .. CS :ﬁ 6. 6 GG 62
p=0.01240.1x+3 |
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Question 4. Find each integral (Definite or indeﬁnite): .
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(e) (6 marks)
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Question 5. (7 marks) :
Use Simpson’s rule with n = 6 to approximate the following. Round your final answer to 3 decimal

places.
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